= NS 2
Tt VAR FE
NEEH

se-osozz o1 NN

ROFTE% LI\, (34X 4)
(1) 400—(310—150) 2) 9X5—24+4
3 6x(13—9+3) (4) 6x(13—9)+3

ROBIBEE | DORICEL T, BAxbrhuI vy, (54%2)

N 1280Mn7 v¥—%I|528-T, 200Ho»TicoTE LW E L7,
2000 7~4 v, 203w sl ) 49,

(%) (% 2)
) |- 100MOML Ty |R60MD AU E4EIZL TE V4, 800MT
FTHEE A £ F A
(%) | (% %)
(33 LTHE LT X O, Chtx4)
(1) 92+37+63 (2) 25X 24
@) 97 %32 W) 64X 124+36X% 12

TORIL, HOROIENEELLHERTT, C4 % 3]
FNETNLORDELF TH 00000
() 2X5+4x5 (2 (2+4) X5 (3) 5x2+5x4 88888

( ) ( ) ( ) O0000
33852
© ©,
HHHHY
0001010
000|010
olellee)]e)




| Fzv7721 . mEEE

HEFHE #4-09027-01

40 (2) 39 3) 60 4) 8

X)) 2000— (80X 154+200) =600 (%) 600M
x) 800+ (100+60) =5 (% x) 5%

92 (2) 600 3) 3104 &) 1200

h® @& @O

—_—~ o~ N



INEEH

By g A/

E4-0902501
M) ( ), +,—, X, =0FUL-~ETIE, £ )odLHEL, KRIIX,
— LT+, —DUwAlHELET,

() 400 (310=150) 2 9X5-24=4
_ [ L@
I N
=400— 160 —45—6
=240 =39
3) 6><(I3 @ 6% (13—9) +3
L@J I_ I_®_]
e o |
L—0®
—6x (13-3) = 6X4+3
=6% 10=60 =24+3=8

1) (ELABE)—((Z7yF—0RE)+(HTORE))=(521Y)
2000— (80 % 15+200) =2000— (1200+200)
=2000— 1400=600 (/)

2 (BTES) = (CGLTLIZORE)+H (AAU I RDRE)) = GEOK)
800+ (100+60) =800+ 160

=5(4a)
(1) 92+37+63=92+ (37+63) (2) 25%X24=25X4Xx6
=32+ 100 = (25%4) X6
=192 =100%X6
=600
3) 97x32=(100—3) x 32 4) 64X 12+36X12=(64+36) X |2

=|00X32—3X32 =]00X (2
=3200—96 = 1200
=3104

@, B2 r@RLz bbbtz )rbohsbr I ELL,
Ly ARII2T405ELEYT L, (2
Ol, BR2Z0Fr Y rbor, ARLIDFrEY 9522 hbbdbsE1T,
LYy BARNIL2XE L 4XEDFazn b, (1)
Olt, BRLINFr Y r2-o0, GROSIDFLENHL-oEHLbELELT,
LY AXRIIOEX2Y5X4DFatin 5, (3)



